The Solution of SOCIE Sample Test
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The answer is ®.
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Compute sin D
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Sol) sin
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The answer is @.

1 3V =22\ (ab) .
3. When (0_1) (1 1)—(Cd),f1nd at+b+tc+d.
1 3 *1(—2 2)_(1 3)(—2 2)_(1 5) _
Sol) (0_1) It _1_ 4/ Hence atbtctd=4.

The answer is ).

4 When o= 1FV31 g 0
V2
Sol) Note that wQZ_Q%Q\/gZ = —1++/3i and
wgzw-wQZL@- (14 V3i) = 123 = 9.3,
V2 V2

Hence, »*" = (v*) = (—2+/2)10 = 2. \/QTO = 21
The answer is @.
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5. Find the maximum value of f(x) =

2243
Sol) From f'(z)= 2’ +3- 2 = 3—a’ f'(z) =0 at z=—+/3 and z= /3
(22 +3)? (22 43)% '
Since f(x)<0 for x<0 and f(z)>0 for >0 and |im f(z)=0, f(z) has a
r— + 00
maximum value at z= /3 , which is f(\/g): % = % )

The answer is 3.

6. Find the area of the region enclosed by y =z’ +2z* +2*—1 and

y=a"+2z" +z+1.

Sol) Since (®+ 22" +z+1)—(@° +2z' +22~1)= —(@*—2-2)= —(z+1)(x—2), two
graphs meet at = —1 and 2=2. Since z°+2z'+z+1 =2 +2z'+2°~1 on the
interval [—1, 2], the area is given by

2 2
/ (@422 +2+1)— (@ +22 +2°—1))dx = / — (2 —z—2)dz
~1 ~1

pot e get v = (gl (gegog - 3
= |—= = =|——= 4)|—|=+=—2| = — .
3x+2x+2x71 3+2+ + B

The answer is .



